#23 Class Work 4-8/9Radical Equations



Name_____________________
Identify any holes in each functions.

	Describe how to find a hole in a function.
	1. 
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Identify any vertical asymptotes

	Describe how to find vertical asymptotes in a function.
	4. 
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Identify any horizontal asymptotes

	Describe how to find horizontal asymptotes in a function.
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	Describe the transformation and graph, show at least 3 points.  Then give the Domain & Range.        
	Write the function for the parent function 
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	12. Vertical stretch of 5 and a translation of 6 units right and 4 down.

	
	
	13. Vertical compression of 1/6, reflected over the x-axis and a translation of 5 units down.


Solve Each:
	14. 
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